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QUESTION 1

Given: 

What is the result? 

A. [A, B, C] followed by an exception thrown on line 11. 

B. [A, B, C] [A, B] 

C. [A, B, C] [A, B, C] 

D. On line 9, an exception is thrown at run time. 

Correct Answer: C 
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interface, text, application 

 

QUESTION 2

Given: 
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Why does D cause a compilation error? 

A. D inherits a() only from C. 

B. D inherits a() from B and C but the return types are incompatible. 

C. D extends more than one interface. 

D. D does not define any method. 

Correct Answer: B 

 

QUESTION 3
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Which method throws an exception for not-a-number and infinite input values? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

QUESTION 4
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Which line of code results in a compilation error? 

A. line n1 

B. line n3 

C. line n2 

D. line n4 

Correct Answer: D 

 

QUESTION 5

Given: 
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and 

What is the result? 

A. test:null 

B. test:1 

C. A ClassCastException is thrown at runtime. 

D. null:null 

E. The compilation fails. 

Correct Answer: E 
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